DAY | APS

WILF: I can interpret diggerent images to wirite
corresponding addition and subtraction gocts; I know
that the order of addition does .not matter but the .order

of subtraction does.
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DAY | LAPS

WILF: I can interpret diggerent imaoges to wirite

corresponding addition and subtraction gocts; I know
that the order of addition does .not matter but the .order
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DAY | HAPS

WALT: Find E i
WILF: I can interpret digperent images to write
corresponding addition and subtraction gocts; [ know
that the order of oaddition does .not matter but the .order
of subtraction does.

WALT: Find ! i
WILF: I can .interpret digperent images to write
corresponding addition .and subtraction gacts; I know
that the .order of addition does not matter but the order
of subtraction does.

WALT: Find ! i
WILF: I can interpret digperent images to write
corresponding addition and subtraction gocts; I know
that the order of oaddition does .not matter but the .order
of subtroction does.

WALT: Find ! i
WILF: I can interpret digperent images to write
corresponding addition .and subtraction gocts; I know
that the order of addition does .not matter but the .order
of subtraction does.

WALT: Find E i
WILF: I can interpret diggerent imoges to wirite
corresponding addition and subtraction gocts; I know
that the order of addition does .not matter but the .order
of subtraction does.
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ls she correct?

U

[ think that all these gacts
are correct bhecauwse the
nwumhers are related

Greater Depth Challenge - ~
I think that all these gacts

8 -5=73 aure correct hecauwse the

8 -3 =25 numbers are related

8 =5-3 ' = g

3 =8 -5

[s she correct? Can you prove it?

Greater Depth Challenge - ~
I think that all these pacts

8 -5=23 are correct hecause the

8 -3 =25 nruumbers oure related

8 =5-3 ' ' % 7

3 =8 -5

Is she correct? Can you prove it?

Greater Depth Challenge - ~

e

Can you prove it?



DAY 2
WALT: Know number bonds to 20

WILFs: I .can wse ruumber honds to 10 to help learn numhber

honds to 20;
Work out addition .and subtraction colcuwlations to 20

quickly.
How many digperent w.ays can you make 207

WALT: Know number bhonds to 20

WILFs: [ can wse number honds to 10 to help learn rumhber

bhonds to 20;
Work out addition .and subtraction caolcuwlations to 20

quuickly.
How .many digrerent ways can you make 207

WALT: Know number bhonds to 20

WILFs: [ can wse number honds to 10 to help learn numhber

honds to 20;
Work out addition .and subtraction colcuwlations to 20

quickly.
How .many digrerent w.ays can you make 207

WALT: Know number bonds to 20

WILFs: I .can wse rumhber honds to 10 to help learn numhber

honds to 20;
Work out addition .and subtraction calculations to 20

quuickly.
How many digperent w.ays can you make 207



DAY 3 APS/HAPS

WALT: Check calculations
WILF: Imndmkmwu,atwmmdwmwa%

Use the inwverse to .check whether these
calculations .are correct.

Il. 7 + 8 =15

Correct or not correct? Q

2. 5+ 9 =15

Correct or not correct?

3. 17 -8=28

Correct or not correct?

L. 16 -9 =17

Correct or not correct? d




DAY 3 APS/LAPS

WALT: Check calculations
WILF: Imndmk,cawu,atwmmd%exm,twug/s

Use the irwerse Lo .check whether these
calculations .are .correct

. 7+ 8 =15 8 + 7/ = @

Correct or not correct?

15 -7

15 - 8
D&

2. 5+ 9=15

Correct or not correct?

3. 17 -8=28

Correct or not correct?

L. 16 -9 =17

Correct or not correct?

Ol ~ OL O~




DAY 3
Greater depth challenge

Decide how you will check Lo see i these
calculations are .correct

. 24 + 6 = 84

2. 25 - 23 =12

3. 18 - 3= 2]

Extension: Where hove the wrong .answers
come. grom?  What mistakes might hove been
made?

Greater depth. challenge

Decide how you will check Lo see i these
calculations are .correct

. 14+ 6 =74

2. 15 -13 =12

3. 18 - 3= 2]

Extension: Where have the wrong .answers
come. grom?  What mistakes might hove heen
made?



DAY 4 APS/LAPS

WALT: Compare number sentences

WILF: I can compare similar calculations using greater than,
Use > < .or = to .make each .one true

3+5<>6+2
I+8<>6+4
q—3<>8—l+
8—5@!0—6
6+3<>H—3
12—4©3+6

Gureater depth:

Fill in the missing rumhbers

. 5+ 3 =6 +

2. 8 - = |0 - 4

3. + 3 = 12 - 2

L., 9 - 2 = + 3

Can you do one gor your partner to solve?



DAY &4 APS/HAPS

WALT: Compare number sentences
WILF: I can compare similar calculations using greater than,
Use > < .or = to .make ecach .one true

13+5<>6+12
l+18<>16+4
ICI—3<>I8—4
18—5020—6
6+l3<>2!—3
22—4©3+16

Greater depth:

Fil in the missing rumbers

. 5+ 3 =6 +

2. 8 - = |0 -4 = 3 +

3 + 13 = 20 - 2 =10 +

L. |19 - 2 = + 3 = + 10

Can you do .one gor your partner to solve?



DAY 6 APS/HAPS

WILF: I can wse .my number bonds to 10; I can use .my
knowledge of tens and .ones; I wunderstand how gocts .are
related.

3+ 4 = =) 30 + 40 =
8 -5=__==>80-50=___
=6+ 3E =60 + 30
- 2=5E - 20 =50
6 -_ =2 ED60-__ =20
2+ 7=_ @m=»70+ 20=__
q-1=__ =0+ __ =90
__+ 6 =10 =100 - 60 = ___
IO=5+_|:>IOO—_=SO
q-_ =13 :>_+30=q0
Greater depth

Can myou write all the related pacts wsing this known goct?

5+ 3 =28




DAY 6 APS/LAPS

WILF: I can use my number bhonds to 10; I can wse my
knowledge of tens and ones; I understand how gacts .are
related.

3 + 4 = > 30 + 40 = __
8 - 5

I
00
@)
I
n
@)
I

6-__ =2 ED60-__ =20
2 + 7 = —) 70 + 20 = ___
Greater depth

Can you write all the related gocts wsing
this known goct?

5+ 3 =28




DAY 7 Aps/HAPs

WALT: Know bonds to 100
WILF: I can .add .and subtract multiples .of 10 wup to .and
within 100 by making links to known gacts.

Can you complete the grid so that each line
is equal to 607

— O~
— @B
— (D

Squares are worth 10
Triangles are worth 20
Circles are worth 30

Show your working .out and check that you

e correck.



DAY 7

WALT: Know honds to 100

WILF: I can .add .and subtract multiples .of 10 wup to .and
within 100 by making links to known gacts.

Can you complete the grid so that each line
is equal to 607

o [E] [¢

Squares are worth 10
Triangles are worth 20
Circles are worth 30

Show your working .out and check that you

e correck.



DAY 8 APS/LAPS

WALT: Add .and subtract |
WILF: I can see (and explain) the pattern .of what happens

3 | 2 |5
/ | 2
IS 19
37 L | L 4
/7 3l
|6 | 3 q
24 20




DAY 8 APS/HAPS
WALT: Add and subtract |
WILF: I can see Candmplajn).thz,p,a.ttefn,og:mhathappems

whan yyou add and sublrack ).
37 L | b by
/7 3l
|6 | 3 q
24 20
83 /7
100 95

Can you explain what happens when you

add or subtract one .more?




DAY 8
Greater depth challenge

[ts 28 days until

My hirthday is 3

Ryan
How many days is it until Lobyus
b&/:é/‘bddg ? (Show the sleps .of your w.orking out)

Greater depth challenge
[£s 28 days wn,td]

My hirthday is 3

Ryan
How many days is it .until Lobys
jzcdhdag 7 (Show the steps o your working out)




DAY 9 aps/haps

WILF: I can explore what happens to the tens and ones
il

N | Fruit Pri

15p ‘ 22p®
&359 Q 68p

Today gruit is reduced by 10p. Work .out the
new price of each piece of pruit.
(Show AfOoALr calculation).

Red .apple = p 15p-10p=___
Green apple = p

Banana = _ p

Lemon = Jol

Tomworrow gruit is increased by 10p. Work
out the new price of each piece of pruit.
(Show AfOALr calculation).

Red apple = p 15p+ 10p=___
Green apple = o)

Banana = __ p

Lemon = yo)




DAY 9 laps

WILF: I can explore what happens to the tens and ones

digits
ol Eoit P

15p ‘ 22p®
&359 Q 68p

Today gruit is reduced by 10p. Work .out the
new price of each piece of pruit.
(Show AfoALr calculation).

Red apple = p 15p - 10p=___
Green apple = p  22p - 10p=___
Banana = ____p 35p - 10p=___
Lemon = ___p 68p - 10p=__
Tomworrow gruit is increased by 10p. Work

out the new price of each piece of pruit.
(Show AfOALr calculation).

Red apple = p I5p+ 10p=___

Green apple = p  22p+ |0p=___
Banana = _ p 35p+ 10p=__
Lemon = ___p 68p + 10p=__



DAY 9

Greater depth challenge:

Can you continue this numhber track by
adding 20 each time?

3

Can you explain how to add 20 to a numhber?

Greater depth challenge:
Can you continue this rumber track by
adding 20 each time?

3

Can you explain how to add 20 to a numher?

Greater depth challenge:
Can you continue this numhber track by
adding 20 each time?

3

Can you explain how to add 20 to a numher?




